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ARgRE Ao 2 vebd A7 (T, LA =/D, B=/F)

(@)DE - g(cm) DF = £ (cm)
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9:3=(8-CD):CD
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AE = 2DG = 8(cm)

- AF =8-2 = 6(cm)

ii) DF : FC = EG : EC 0|2 _Gz( m)
AD :BD =BG : EG °|2&, BE = 6(cm)
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1
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1 1 1
ABEF = ZABDC = Z X 5 X10x 4 = 5(Cm2)

.. AGEF = 0ABFG - (0DABEG + ABEF)
=16 - (9+5) = 2(cm?)




42, o3 I"”3 Zo] AP = PD, AQ = QB, BR =RC,

S
A& ot A2 Y PQRS & WSS the 49 F 82 A2?

w,

@ A, B, C, D& AZste] T =92 Aol
ottt
© AHHE PQRS + B3Rl

© 4% APQ = Aol
@ 799 sHAZA T et 2 x PS = AB ©t}.

@ PQ ¢ SR 2 A= B3st, dol7t gt

O

==
|t

0:
[¢]

6,0 206 Goe ®ee 6e6

A B <D & dZstH 4439 SHAZA 2 o5t
AABD |4 PQ = %_D ,P
ACBD oA RS = 5@

RS //BD

- PQ=SR,PQ//RS

whaEhA oPQRS = 31 4ol tjHo] Wty 11 Aoy gonz
PR ol




43. g 1YW 2L o 5HML

AABD &} AADC 9] BAZFAIS

=7

G

G/

B

~_E D F._-

C

“~9%24cm--

@ 5cm @ 6cm ® 7cm

@SCID ® 9cm

~&B

AE:AG=3:2=12:GE
2. GG’ = 8(cm)

BE =DE, DF = CFo|B& EF =

BC = 12(cm)




44. o3 J"HNA H G, G = Z4Z aAACD ,
ADBC 9] ZAZAolth, AB = 24cm o
o, GG’ 9] ZolE H5}odat,

AG:GM =BG :GM=2:10]E=2
GG’ // AB ©o|t}.
GG’ :AB=MG:MA=1:3

1




45. o2 I H G = AABC o A EAlo|th A F, E = AB, AC
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1 1 1 1
AFGE = ZDAFGE =1 X 3 X AABC= 12 x AABC
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